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= A 7842 5562 2280 365 21.48 15.24
Hep = 5165 3305 1860 326 15.84 10.14
P KB 3502 2582 920 193 18.15 13.38
A EE 2650 1550 1100 87 30.46 17.82
= BEE 2447 1547 900 216 11.33 7.16
#HEE S 1760 1440 320 160 11.00 9.00
A+ HE 1684 1084 600 50 33.68 21.68
ERE & 798 398 400 24 33.25 16.58
AR 767 427 340 69 11.12 6.19
FiE Y 704 424 280 10 70.40 42 40
E2iE & 694 354 340 33 21.03 10.73
FER IEE 594 394 200 6 99.00 65.67
He F 582 402 180 59 9.86 6.81
INH FB— 365 185 180 25 14.60 7.40
¥ 2 321 221 100 10 32.10 22.10
gl E 309 249 60 5 61.80 49.80
ZH FE 292 232 60 45 6.49 5.16
KiE #X 200 120 80 4 50.00 30.00
Bl BiF 197 177 20 5 39.40 35.40
=R _F0F 154 14 140 17 9.06 0.82
EF| tHB) 136 36 100 5 27.20 7.20
EAR 8hT 134 94 40 2 67.00 47.00
fEfE XK 45 A 35 80 6 7.50 A 583
FH E=EX 41 41 0 2 20.50 20.50
INFR KA 30 10 20 1 30.00 10.00
TH EF A 10 70 A 80 16 A 063 4.38
XiE BE— A 71 A 31 A 40 15 A 473 A 207
SATE A 97 A 117 20 7] A 1386 A 16.71
17 B A 125 A 45 A 80 19 A 658 A 237
J\K_ F—ER A 212 A 92 A 120 32 A 663 A 288
HEA #$— A 293 A 213 A 380 4] A 7325 A 5325
R S A 349 A 249 A 100 170 A 2053] A 1465
£F B A 361 A 241 A 120 2| A 18050 A 12050
=R A% A 385 A 225 A 160 4] A 9625 A 56.25
ANHE B A 395 A 215 A 180 5/ A 7900 A 43.00
2E 5= A 465 A 365 A 100 7] A 6643 A 5214
BE f2 A 468 A 268 A 200 15| A 3120] A 1787
BAAT A A 582 A 382 A 200 10 A 5820 A 38.20
A= B A 639 A 439 A 200 6] A 10650 A 73.17
FE A A 926 A 626 A 300 142 A 652 A 441
MO &F A 1060 A 3800 A 260 23 A 46.09 A 3478
HUR Bz A 1200 A 3830 A 320 38 A 3158 A 2316
wa = A 1367 A 927 A 440 32 A 4272 A 2897
LB RF A 1560 A 1020 A 540 188 A 8.30 A 543
=B 1EHR A 2324 A 1244 A 1080 161 A 1443 A 773
A7 & A 2560 A 1740 A 820 73] A 3507 A 2384
FE BR A 4791 A 3171 A 1620 495 A 968 A 641
£k IKF A 5104 A 3484 A 1620 155] A 3293] A 2248
H:& %+ A 6459 A 4499 A 1960 114] A 56.66] A 39.46




